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Direction : Answer the following questions
by selecting the correct option.

1.
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Accounts produced objectively will
be unbiased and hence tend to be
more

(A) reliable
(B) comparable
(C) relevent

(D) None of the above

Quantitative transactions are not
recorded in accounts due to

(A) accrual concept
(B) realisation concept
(C) money measurement concept

(D) None of the above

Accounting principles are generally
based on

(A) subjectivity
(B) practicability
(C) applicability

(D) None of the above

The accounting standards are
intended to apply only to items
which are

(A) material
(B) insignificant
(C) measured in terms of money

(D) None of the above
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The term ‘imprest system’ is used in
relation to

(A) sales book
(B) cash book
(C) petty cash book

(D) None of the above

Window dressing is prohibited due
to

(A) convention of conservatism
(B) convention of disclosure
(C) convention of materiality

(D) None of the above

Which of the following pairs are
correctly matched?

(A) Business
standard

entity—Accounting

(B) Capital—Drawings
(C) Stock valuation—Consistency

(D) None of the above

Which of the following is an
accounting equation?

(A) Capital — Assets = Liabilities
(B) Assets — Liabilities = Capital
(C) Liabilities — Capital = Assets

(D) None of the above
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Revenue is generally recognised as
being earned at that point of time
when

(A) sale is affected

(B) cash is received

(C) production is completed

(D) None of the above

Accounting records transactions in
terms of

(A) commodity units
(B) monetary units
(C) production units

(D) None of the above

‘Errors of Commission’ do not allow

(A) correct totalling of the Balance
Sheet

(B) correct totalling of the Trial
Balance

(C) the Trial Balance to agree

(D) None of the above

‘Bank Reconciliation Statement’ is
prepared by

(A) Bank
(B) customer of Bank
(C) creditor of a business

(D) None of the above
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Closing stock appearing in the Trial
Balance is shown

(A) on the credit side of Profit and
Loss Account

(B) on the credit side of Trading
Account

(C) on the assets side of the

Balance Sheet

(D) None of the above

Assets appearing in the book but
having no value are known as

(A) wasting assets
(B) intangible assets
(C) fictitious assets

(D) None of the above

Expenditure incurred by a publisher
for acquiring copy rights is a

(A) capital expenditure
(B) revenue expenditure
(C) deferred revenue expenditure

(D) None of the above

Depreciation accounting is a process
of

(A) allocation of cost
(B) valuation of assets

(C) provision for replacement of
assets

(D) None of the above
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An asset is never reduced to zero
in the

(A) fixed instalment method of

depreciation
(B) annuity method of depreciation

(C) diminishing balance method of
depreciation

(D) None of the above

Secret reserves
means of

are created by

(A) transfer to general reserve
(B) providing excessive depreciation
(C) overvaluation of inventories

(D) None of the above

Obsolescence means decline in the
value due to

(A) fall in the market price
(B) physical wear and tear
(C) efflux of time

(D) None of the above

Which of the following is not a
capital reserve?

(A) Profit prior to incorporation
(B) Dividend equalisation reserve
(C) Profit on sale of fixed assets

(D) None of the above
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The term
relation to

‘depletion’ is used in

(A) fixed assets
(B) wasting assets
(C) intangible assets

(D) None of the above

A provision is a

(A) general reserve
(B) specific reserve
(C) capital reserve

(D) None of the above

Bills receivable endorsed are debited
to

(A) debtor’s account
(B) creditor’s account
(C) bills receivable account

(D) None of the above

Memorandum Joint Venture Account
is a

(A) personal account
(B) real account
(C) nominal account

(D) None of the above
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Single Entry System is defective
because

(A) only one account is maintained

(B) the Trial Balance cannot be
prepared

(C) the net profit cannot be
accurately calculated

(D) None of the above

Which of the following is prepared
by organisations keeping only
incomplete accounting records?

(A) Customer’s account
(B) Cash book
(C) Expenses account

(D) None of the above

Receipts and Payments Account

records the transaction of

(A) revenue receipts and payments
only

(B) all receipts and payments
relating to the current year only

(C) all receipts and payments
relating to the current year,
succeeding year as well as
preceding year

(D) None of the above

X, Y and Z are partners in a firm

sharing profits and losses in the

ratio l,—,i respectively. What will
2°5°10

be new ratio of the remaining

partners if X retires?

A) 2:1
B) 4 : 1
(C) 5:1

(D) None of the above
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A and B are partners sharing profits
and losses in the ratio 7:3.
C is admitted as a new partner.

1 1
A surrenders - and B surrenders 3

of their share in favour of C. The
new profit-sharing ratio will be

A) 3:1:1
B) 4:1:1
) 3:2:1

(D) None of the above

As per Garner vs Murray, the loss
resulting from a partner's insolvency
is borne by other partners in

(A) equal ratio
(B) capital ratio
(C) profit-sharing ratio

(D) None of the above

Which of the following securities
cannot be issued by a Public Ltd.
Company in India?

(A) Participating preference share
(B) Redeemable preference share
(C) Deferred share

(D) None of the above

If on a share of ¥ 100 and called up
capital ¥ 90, while the company
received ¢ 80, the capital account
should be credited with

(A) ¥ 100
(B) ¥ 90
(C) ¥ 80

(D) None of the above

29.

30.

31.

32.

A @R B G FIHT SRAME | OIChd TS
S (SRR SRM® 2¢ell 7 : 3 1 C T
AR B T A e | C-9d

WAWW;WQ*T@?QBW;

S (2T 71 | TR A € IR
RERINES|

(A) 3:1:1
B) 4:1:1
(C) 3:2:1
(D) TR (@DR

S T A AR AR SEPICE (I
SRR (TSR 2SR TCo (@ @I
R O T SAMENT @ SIS 72
FACE O 2CE

(A) T SRS
(B) T 7S

(C) TTS-CETRPT ST
(D) TR (DR

SRS YRS FRNGT (@@=l T (I
R el Face “1ed =12

(A) SRR SAMGFRRS TR
(B) Zroy=forcqiel SeAiPRye (e
(C) Rerfae crm

(D) TR (@DR

M 100 GRFl 0 (P R 90 BIl
8 O I 80 BIF! (U ACF, O
Fore e (&M T =T

(A) 100 B frca
(B) 90 b frw
(C) 80 B frcw
(D) To[Caa FRIGE

[ PTO



33.

34.

35.

36.

/19

Right shares mean the shares which
are

(A) issued to the directors of the

company

(B) first offered to the debenture

holders

(C) first offered to the existing

shareholders

(D) None of the above

When shares are forfeited, capital
account is debited by

(A) nominal value of shares

(B) paid-up amount of shares

(C) called-up amount of shares

(D) None of the above

The minimum share application

money is

(A) 3% of the nominal value of
shares

(B) 10% of the nominal value of
shares

(C) 25% of the nominal value of
shares

(D) None of the above

The issue of bonus shares must be
in accordance with the guideline
issued by the

(A) Company Law Board

(B) Controller of Capital Issue

(C) Securities and Exchange Board
of India

(D) None of the above
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If forfeited shares which were first
originally issued at a discount are
re-issued at a premium, the amount
of such premium will be credited to
(A) share forfeiture account

(B) share premium account

(C) capital reserve account

(D) None of the above

Share premium received by issuing
shares can be used for

(A) payment of dividend

(B) issue of bonus share
(C) any business purpose
(D) None of the above

Non-convertible debenture refers to
(A) loan capital

(B) owner’s capital

(C) short-term debts

(D) None of the above

After the redemption of debentures,
the balance of ‘debenture sinking
fund’ is transferred to

(A) debenture account

(B) general reserve account

(C) capital reserve account

(D) None of the above
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A Ltd. Company issues 3000, 15%
debentures of ¥ 100 each at a
discount of 7.5%, repayable at a
premium of 5% at the end of 5 years.

The loss on issue of debentures will
be

(A) ¥ 22,500
(B) ¥ 30,000
(C) ¥ 37,500

(D) None of the above

Redeemable preference shares can
be redeemed

(A) only if they are fully paid
(B) even if they are partly paid

(C) only if they are issued at a

premium

(D) None of the above

The portion of share capital which
can be called up only on the winding
up of the company is the

(A) authorised capital
(B) issued capital
(C) reserve capital

(D) None of the above

Participating preference shares are
those which participate

(A) in the voting

(B) in the general meeting of the

company

(C) in the profits over and above
their fixed dividend

(D) None of the above
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Redeemable preference shares of
¥ 2,00,000 are redeemed at par for
which purpose fresh equity shares
of ¥ 80,000 is issued at a premium
of 10%. What amount should be
transferred to Capital Redemption
Reserve Account?

(A) ¥ 1,28,000
(B) ¥ 1,20,000
(C) ¥ 72,000

(D) None of the above

The process of explaining the
meaning, significance and relation-

ship between to financial factors is
called

(A) summarisation
(B) analysis
(C) interpretation

(D) None of the above

One of the techniques used in
comparative analysis in financial
statement is

(A) graphical analysis
(B) preference analysis
(C) common size analysis

(D) None of the above

The term ‘funds’ as used in Funds
Flow Statement means

(A) net working capital
(B) cash
(C) current assets

(D) None of the above

13

45.

46.

47.

48.

2,00,000 GRF 2rep(ecarsn Sefaaeye
CRR R A R G
80,000 GIFE o TG CRE 10%
wR(cq fifel w1 2ceTl | e erwyefa SAeehy
2 FO Bl BB FACS A ?

(A) 1,28,000 BrFl
(B) 1,20,000 BrFl
(C) 72,000 BrF

(D) T°[Caq (FID2

JfF Tomm i Y, ¥Fg 8 AR
TG (@ TaRfecS AT FH T O 2l

(A) RFEREFRE

(B) Rcwd

(C) TFAC

(D) TR @FMbe T

W RN e [ S Gl
TafS 2CTl

(A) @Ifdcad e

(B) welfEsiefes fKoae

(C) MaRe SFRfefes Resd
(D) To[Caa FFIE

ORI o | E ECE I ACIIS ICE UMM e

RRIEEACE]

(A) 0 SRG! o
(B) <o Bpl

(C) dfere =ife

(D) TR (@DR

[ PTO



49,

50.

51.

52.

/19

Which of the following transactions
will result inflow of funds?

(A) Conversion of debentures into

equity shares
(B) Issue of debentures

(C) Redemption of debentures

(D) None of the above

Given net profit for the year
¥ 2,50,000, transferred to general
reserve ¥ 40,000 and old machinery
bought for ¥ 50,000 was sold for
¥ 20,000. Fund from operation is

(A) ¥ 2,80,000
(B) ¥ 2,20,000
(C) ¥ 2,00,000

(D) None of the above

Cash Flow Statement is based upon

(A) cash basis of accounting

(B) accrual basis of accounting
(C) credit basis of accounting

(D) None of the above

As per Accounting standard AS-3,
provision for taxation should be
treated as

(A) a current liability
(B) an appropriation of profit
(C) Both (A) and (B)

(D) None of the above
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Cash from operation is equal to

(A) net profit + decrease in current
assets

(B) net profit + decrease in current
liabilities

(C) net profit + issue of bonus share

(D) None of the above

Increase in the amount of prepaid
expenses results in

(A) increase in cash
(B) decrease in cash
(C) no change in cash

(D) None of the above

The immediate solvency ratio is
(A) quick ratio

(B) current ratio

(C) debtors turnover ratio

(D) None of the above

When net sales for the year
are ¢ 2,50,000 and debtors are
¥ 50,000, the average collection
period is (assuming the year as
360 days)

(A) 60 days
(B) 45 days
(C) 72 days

(D) None of the above
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If the cost of goods sold is
¥ 1,00,000, the values of opening
and closing stocks are ¢ 20,000
and ¥ 30,000 respectively, the stock
turnover ratio will be

(A) 4
B) S
©) 6

(D) None of the above

Price per share is ¥ 30 and earning
per share is ¥ 3.5, then price for
earning ratio would be

(A) 857
(B) 857
(C) 0-857

(D) None of the above

In calculation of net cash flow,
depreciation and amortization are
treated as

(A) current liabilities
(B) non-cash revenues
(C) non-cash charges

(D) None of the above

X Ltd. has a debt-equity ratio of
15 as compared to 1:3 industry
average. It means that the firm has

(A) higher liquidity
(B) higher financial risk
(C) higher capital employed

(D) None of the above
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Cost accounting is based on
(A) approximate figures

(B) estimated figures

(C) historical figures

(D) None of the above

Cost of production is equal to

(A) prime cost + works cost

(B) total cost — prime cost

(C) works cost + administrative cost

(D) None of the above

An opportunity cost is a
(A) direct expenses

(B) indirect expenses

(C) semi-variable expenses

(D) None of the above

Conversion cost includes

(A) direct material + direct labour

(B) direct material + direct labour +
works cost

(C) labour cost + Manufacturing
expenses

(D) None of the above
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Which of the following expenses is
excluded from cost?

(A) Discount on issue of shares and
debentures

(B) Excise duty
(C) Hire charges of a special plant

(D) None of the above

Cost accounting is one of the
branches of accounting which has
emerged due to the problems faced
by

(A) Management accounting
(B) Inflation accounting
(C) Financial accounting

(D) None of the above

Which of the following is not a
technique of cost accounting?

(A) Operating costing
(B) Standard costing
(C) Uniform costing

(D) None of the above

An aggregate of indirect material,
indirect labour and  indirect
expenses is called

(A) Replacement cost
(B) Overhead
(C) Sunk cost

(D) None of the above
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In process costing, cost per unit
increases because of

(A) normal gain

(B) normal loss

(C) abnormal loss

(D) None of the above

Which method of costing is used in
mass production industries?

(A) Job costing
(B) Batch costing
(C) Process costing

(D) None of the above

1,000 units are introduced in a
process in which normal loss is
150 units. If actual output is also
1,000 units, then there is

(A) abnormal gain

(B) abnormal loss

(C) no abnormal gain or abnormal
loss

(D) None of the above

Marginal costing is also known as
(A) direct costing

(B) variable costing

(C) Both (A) and (B)

(D) None of the above
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Break-even-analysis does not
requuire the following assumption.

(A) All fixed costs are fixed
(B) All variable costs are fixed
factors

(C) Prices of are

constant

input

(D) None of the above

An industry is selling its product for
¥ 10 per unit. The fixed cost is
¥ 40,000 with variable cost of ¥ 6
per unit. How many units should be
produced to break even?

(A) 8,000 units
(B) 10,000 units
(C) 12,000 units

(D) None of the above

P/V ratio of a company is 50%,
while its margin of safety is 40%. If
sales volume is Rs. 5,00,000, then
the net profit will be

(A) ¥ 1,00,000
(B) ¥ 50,000
(C) ¥ 2,00,000

(D) None of the above

The principle object of audit is

(A) to exhibit of true and fair view
of the state of affairs of the
undertaking

(B) detection of errors
(C) checking accuracy of accounts

(D) None of the above
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Which of the following is the most
detailed audit?

(A) Statutory audit
(B) Continuous audit
(C) Periodical audit

(D) None of the above

Which of the following is called the
‘backbone’ of auditing?

(A) Routine checking
(B) Vouching
(C) Internal control

(D) None of the above

Internal audit is
(A) statutory audit
(B) annual audit
(C) internal control

(D) None of the above

By observing, testing and assessing,
an auditor examines the system of

(A) internal audit
(B) internal control
(C) continuous audit

(D) None of the above
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The object of internal check is to
(A) control wastages of resources
(B) prevent errors and frauds

(C) verify the cash receipts and
payments

(D) None of the above

In verification of assets, the duty of
the auditor is

(A) to ensure that assets have
actually been acquired

(B) to ensure that assets are clearly
stated in the Balance Sheet

(C) to statisfy himself with regard to
the existence, ownership and
value of the assets

(D) None of the above

The basic postulates of financial
auditing theory includes

(A) financial statement and data are
verifiable

(B) audit conclusion and report

(C) accounting system and internal
control

(D) None of the above

‘Auditor is not a valuer’ stated in
(A) Kingston Cotton Mills Case
(B) London and General Bank Case
(C) Lee v.s Neuchated Co. Ltd Case

(D) None of the above
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Cost audit under section 233(D) of
the Companies Act is

(A) voluntary
(B) compulsory
(C) advisable

(D) None of the above

Which of the following items is not
included in environment audit?

(A) Pollution monitoring scheme
(B) Storage of toxic chemicals
(C) Scrutiny by govt. agencies

(D) None of the above

Who selects the Social Audit

Committee under MGNREGA?
(A) Gram Sabha

(B) Village Panchayat

(C) Block
(B.D.O)

Development  Officer

(D) None of the above

Which among the following is not an
audit report?

(A) Disclaimer report
(B) Adverse report
(C) Standard unqualified report

(D) None of the above
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Management audit is

(A) an independant appraisal of the
total management process

(B) an investigation into the

conduct of directors

(C) an independant appraisal of
competitiveness of business

(D) None of the above

Management audit is conducted by
(A) Statutory auditor

(B) Government auditor

(C) Cost auditor

(D) None of the above

Social responsibility of business
assumes considerable importance
towards

(A) owners and workers

(B) consumer and society

(C) government and nation

(D) All of the above

In which of the basic categories can
business environment be divided?

(A) Local and regional
(B) Regional and national
(C) Internal and external

(D) None of the above
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Which of the following should be
regarded as the most important
factor for deciding the form of
business organisation?

(A) Type of business

(B) Financial requirement
(C) Area of operation

(D) None of the above

The most simplest form of business
ownership is

(A) proprietorship business
(B) partnership firm

(C) joint-stock company
(D) None of the above

A partnership firm comes into
existence by agreement between all

the partners and such agreement
should be

(A) expressed agreement

(B) implied agreement

(C) either expressed or
agreement

(D) None of the above

implied

What is the advantage of corporation
relating to partnership and sole
proprietorship?

(A) increased difficulty of raising
funds
(B) reduced

investors

legal liabilities for

(C) harder to transfer ownership
(D) None of the above

Which of the following is a
characteristic of a co-operative
society?

(A) Profits are not subject to income
tax

(B) One vote per share

(C) Dividends are paid on a per
share basis

(D) None of the above
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A  major disadvantages of the
corporate form of  business
organisation is the

(A) double taxation on dividend
(B) limited liability to shareholders

(C) unlimited life of the corporate
form

(D) None of the above

The most suitable form of business
organisation for the people of weaker
section is

(A) partnership firm
(B) co-operative society
(C) joint-stock company

(D) None of the above

Type of market in which securities
with less than one year are traded is
called

(A) capital market
(B) money market
(C) global market
(D) None of the above

Which is the most active money
market instrument in India?

(A) Treasury bill

(B) Repo

(C) Commercial paper

(D) None of the above

In capital market major suppliers of
trading instruments are

(A) Govt and Corporations

(B) Manufacturing Corporations

(C) Instrumental Corporations

(D) None of the above
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Stock and shares that are sold to
investors transacting through
financial institutions are called

(A) direct transfer

(B) indirect transfer

(C) global transfer

(D) None of the above

A future contract is nothing but a
forward contract that is

(A) sold by mutual funds
(B) sold by bank
(C) exchange traded

(D) None of the above

What is the important role of
commodity exchange?

(A) Maintain market balance
(B) Provide liquidity
(C) Providing security against risk

(D) None of the above

Which of the following management
functions are closely related?

(A) Planning and organising
(B) Planning and control
(C) Planning and directing

(D) None of the above
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‘Human relation approach’ manage-
ment was originated by

(A) Henri Fayol
(B) Peter Drucker
(C) Elton Mayo

(D) None of the above

Contigency school of management
says that management is

(A) practice oriented
(B) principle oriented
(C) result oriented

(D) None of the above

To indicate the functions of
management, the catch word
'POSDCORB' was coined by

(A) Luther Gulick

(B) Henri Fayol

(C) Ernest Dale

(D) None of the above

The process of choosing a course of
action from among alternative to
achieve a desired goal is called

(A) planning

(B) organising

(C) division making

(D) None of the above
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Which of the following is not a
function of personnel management?

(A) production, planning and
centrol
(B) recritment and selection of

manpower

(C) training and development of
manpower

(D) None of the above

In manpower planning short-term
plans are prepared for

(A) 1 year
(B) 6 months
(C) 3 months

(D) None of the above

Marketing management covers not
only the market of goods but also
the marketing of

(A) products
(B) services
(C) quality of goods

(D) None of the above

Maximizing the market share is the
objective of a company in stage
of product life cycle.

(A) growth

(B) maturity

(C) introduction

(D) None of the above
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Green marketing is a part of
(A) re-marketing

(B) event marketing

(C) social marketing

(D) None of the above

Which of the following terms was
also used prior to language of recent
Human Resource Management?

(A) Labour relation

(B) Personnel management

(C) Industrial relations

(D) None of the above

Which Act in industrial relations
defines the term 'Trade union'?

(A) Industrial Trade
1962

Resolution

(B) Industrial Policy 1991
(C) Industrial Employment 1946

(D) None of the above

Which of the following is not an
approach to industrial relation?

(A) Employee's approach
(B) Unitary approach
(C) Pluralistic approach

(D) None of the above
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Finance function comprises
(A) expenditure of funds only
(B) procurement of finance only

(C) procurement and effective use of
funds

(D) None of the above

The only feasible purpose of
financial management is

(A) wealth maximisation
(B) Profit maximisation
(C) Sales maximisation

(D) None of the above

A certain sum of money at simple
interest amounts to Rs 1260 in 2
years and to Rs. 1350 in S years.
The rate percentage per annum is

(A) 2:5%
(B) 2:0%
(C) 3:0%

(D) None of the above

How much time will it take for an
amount of ¥ 450 to yield ¥ 81 as
interest at 4.5% per annum of
simple interest?

(A) 3.5 years
(B) 4 years
(C) 4.5 years

(D) None of the above
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A bank offers 5% compound interest
calculated on half yearly basis. A
customer deposits ¥ 1,600 each on
1st January, and 1st July of a year.
At the end of the year, the amount
he would have gained by way of
interest is

(A) ¥ 120
B) ¥ 121
(C) T 122
(D) None of the above

The difference between simple and
compound interest on a sum of
money put for 4 years at 5%. p.a. is
¥ 150. The sum is

(A) ¥ 10,000
(B) ¥ 12,000
(C) ¥ 15,000
(D) None of the above

Find the amount of annuity of
¥ 100 per annum left unpaid for
10 years, allowing 5% p.a.
compound interest.

(A) ¥ 1825

(B) ¥ 1528

(C) ¥ 1258

(D) None of the above

If x*-3x+5 is divided by 2x-1,
then remainder is

(a) 35
16

B) =35
16

€ -9
(D) None of the above
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The first term and third term of an
A.P. are 30 and 26 respectively. Find
the eighth term

(A) 20
(B) 16
(C) 12

(D) None of the above

If the roots of the equation

2x2+2x-3=0are aand b, then the
value of 2ab is

(A) 2
(B) 3
C) -3

(D) None of the above

How many term of the series
1+3+9+27...... must to taken so that
their sum is equal to 364

(A) 6
(B) 8
(C) 12

(D) None of the above

Measure which describes detailed
characteristics of whole data set is
classified as

(A) average on central value
(B) positive skewed
(C) negative skewed

(D) None of the above
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If mean absolute devisation of a set
of observation is 8'5 then the value
of quartile deviation is

(A) 102
(B) 9-08
(C) 708

(D) None of the above

The first two moments of a
distribution about the value 5 of the
variable are 3 and 34, then the
variance is

(A) 15
(B) 25
(C) 35

(D) None of the above

Primary indexes, scondary indexes
and cluster indexes are all types of

(A) ordered indexes
(B) unordered indexes
(C) linear indexes

(D) None of the above

If the central tendency is found by
using whole population as input
data then this is classified as

(A) population statistics
(B) population tendency
(C) population parameters

(D) None of the above
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Which of the following is not a test
for index numbers

(A) time reversal test
(B) factor reversal test
(C) circular test

(D) None of the above

A consumer attains highest utility
when  his budget line and
indifference curve

(A) cross each other

(B) touch each other

(C) Both (A) and (B)

(D) None of the above

Law of demand states that

(A) price and quality demanded
vary in the same direction

(B) no relation between price and
quality demanded

(C) price and quality demanded
vary in opposite direction

(D) None of the above

Cross price elasticity of demand
involves

(A) one commodity and its price
(B) two commodities and their price
(C) Both (A) and (B)

(D) None of the above
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Production function provides the
relationship between

(A) input and output
(B) output and price
(C) Input and factor price

(D) None of the above

Marginal product equals average
product when average product is

(A) Lowest
(B) Declining
(C) Raising

(D) None of the above

Profit is the difference between

(A) average revenue and average
cost

(B) total revenue and total cost

(C) marginal revenue and marginal
cost

(D) None of the above

When average cost raises marginal
cost

(A) equals average cost
(B) raises but less than average cost

(C) raises but more than average
cost

(D) None of the above
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Fixed cost be observed in the
(A) short run

(B) long run

(C) Both (A) and (B)

(D) None of the above

In a perfectly competitive market
average revenue

(A) is less than marginal revenue
(B) is more than marginal revenue
(C) equals to marginal revenue

(D) None of the above

In a monopoly market

(A) there is a single seller
(B) there are two sellers
(C) there are many sellers

(D) None of the above

Marginal productivity
associated with

theory is

(A) product pricing
(B) factor pricing
(C) product demand

(D) None of the above
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Liquidity = preference
associated with

theory is

(A) rent
(B) interest
(C) wage

(D) None of the above

Gross national product includes
(A) net export

(B) net factor income

(C) both (A) and (B)

(D) None of the above

A monopolistically competitive firm
in long-run equilibrium

(A) will make negative profit
(B) will make zero profit
(C) will make positive profit

(D) None of the above

Multiplier depicts and relationship
between

(A) investment and income
(B) income and savings
(C) savings and export

(D) None of the above
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